U4 Day 2 HW - Finding the Inverse Algebraically

Key

In these problems, determine whether f(x) is one-to-one. If it is not, restrict the domain so that f(x) is one-to-
one. Give the restricted domain and the range. Then find f1(x) and write its domain and range.
K-3 LR S

1 f(x)=-4x-3 f(x)=—4x-3 )= =z a ?Fx 4
D: (-OOI Q’)O) D: (—-Oo ) Oo)
R: ("O°O°) R (-, oo)

5 5 -1 .27( "‘6_
2. f(x) =5 fx)=— = —
- (—Waz)U(Z;“) D: (.. o, a)u(0,00)
R:(~00, o)U(o,oo) R: (-OO,J_)U(&\O")
Ex.f(x) =vx—-1 +3 fx)=+vx—-1 +3 i) = 7(2'..(07( )

p. [ 1,)
R: [_3 , )

Ex. f(x) = —=3Vx + 2

D: (-—00 ) oo)

R: C" %) OO)

Ex. f(x) = =2(x—3)%2 -4
D: E3) °°)
R: (" Qo, "‘")

V¢ <3)-4'.>

F\

D: '[.3, OO)
R [1, 00)

fix) = —3Yx T Z = =X -Q
A7
D: (" oo, OO)
R: - 00, Oo)
FO) =—2(x—3)% - 4 £ = \t'_’:{'f +3
D: (~oo, 4]

R: [_3,0::)



3 i
Ex. f(x) = (x+6)3+7 fX)=(x+6)>3+7 flx) = xX=T e
D: (—-QO, 00) D: (_%)00)
R: (, o0 ) W) R: (’ wl Oa)

-3A
Ex. f(x) === flx) == fFlay= x-)

x+3 x+3

D:(—M,'3)U('3,°ﬁ D: (“OO, \)U(‘)w)
R:L—oo’l)u(|,oo> R: (_OO,—a)U(—SJoa)

o




